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Note :

ECONOMICS
PAPER - I1I

This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

A recessionary gap measures the :

(1) amount by which autonomous spending is below to that needed to ach1eve a full
employment equillibrium f

(2) amount by which aggrigate spending exceeds to that needed to achieve full emplqyment

(3)  difference in real output between the classical model and the keynesian depression
model. { r

(4) Extent of paradox of thrift

L

2. How many countries are the members of European Union ? * - r
(1) 25 (2) 28 (3) 26 £ @ 15
" B 'i
3.  Identify the factors which are likely to pose ris}ffo Indid’s external economic situation :
(a) U.S. Federal Reserve monetory tightening expected; later this year (2015).
(b) Viability of the Eurozone in the event of a Greek e>§1t
(c) Spike in oil prices / ;
(d) Increase in India’s share in global exports. (f
Find the correct combination from the given codes :
O @ad®) O @OPE @ CEmi@ @ @ad
!
4.  Monetary policy in India now a@s at targeting :
(1) Growth of money supp1¥ (2) Consumer price inflation
(3) neither (1) nor (2) A (4) Both (1) and (2)
5.  Match List - I with List - II and show the relation between trade cycle and profit by selecting
correct codes given below..
List - I L. List-1I
(a) Recession (i) Low
(b) Boom (i) Positive
(c) = Recovery# (iii) Highestlevel
o (d) Depressions, (iv) Negative
" Codes : | %
@ (b) (o) (d)
@ i) (@) 60 @)
@ () (i) @) @)
@) (v) (@) @) ()
@ 0 @ /G W
L]
6. Inrelative income hypothesis consumption is related to :
(1) Peak past Consumptions (2) Median current consumption of peer group
Neither (1) nor ( (4) Both (1) and (2)
H||“||H||||H|H\||\ HII\I\II\IHIHHIIHI\ z Fapert
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fder: =8 yvs ® vees (75) 9g-faswedd U9 ¥ 1 U U9 % er (2) ik § 1 |l v arfard ¥

1. FEE-iae e | 9 foRd A 72
(1) ol ISR 9 i & FF IRAT § a9 foha1 &7 @1
(2) YUl USFIR =1 YT i 7q &I | Tohel o9 foha a1 AT @ '
(3) FAMhIT Aied H aRfdeh caied a0l hweh (g Hal Hied H ardioesh 3G | aﬁ'{l p
(4) Toderra & fadienma =1 am {
2. IR g & 19 fhae wew €2 I
1) 25 2) 28 (3) 26 4) 15
3. T wRI ®I T HIfSE S Waﬁa@aﬂmﬁqﬁr%maﬁf@ammwm%:
@) 3. T Wﬁaﬁmwaﬁ(zols)%méﬁﬁ%maﬁﬁw
(b) Tk o FUSA 9 e et T PASTH Elﬁ
(c) da wimdl | IsTA /
d) favafmaia & wrda frafa & fe # 3fg/
T TR WA 1 T ford Fe @ I ‘
(1) (a) T (b) 2) @ @®)TAM(@E)  (3) b QI @ @T
4 TRANEE A mam ey . f
(1) T I # afs /) @ owie e g
@ Ad@ATE) (4) (1) @ (2) S
5. -1 g - Ilﬁwwaquﬁﬁaﬁrﬁgﬁmmﬁ%%@wﬁww
T - 1 g1 - T - 11
(a) TIHIQ ' { G =
(b) Y | (ii)  GATCHE
(c) = e 4 (il) HaTS W
J(d) =R 5 (iv) RoTeres (fTdie)
% : =
(@ () (o) (d)
(1) @) (v) (@ @)
)" () () |G ()
e G @ 0
@ O @ @) @)
6. T ST WfEwTI H 3T S 2 E
1) Eﬁﬁﬁ"ﬁ?ﬂ‘iﬂﬂ (2) HHHE T % TAHM IUHT FT HIEHT HH
(3) T (1) FRIARH () (4) (1) 7 (2) I
pous ||\||H|||\|H||H||H||||\IHI\II\||“|“|H||\||\|||\|H|| : Papeca

www.examrace.com



7.  Monetary expansion can still be effective in getting out of liquidity trap if it's combined
with :
(1) Restrictions on bank loans (2) Increased taxes
(3) Contractionary fiscal policy (4) Expansionary fiscal policy
8.  If a linear consumption function passes through the origin it means :
(1) APC > MPC (2) APC < MPC
(3) APC=MPC (4) APC=MPC=0
9.  According to Keynes the Aggregate suppy curve during depression : {
(1) is horizontal (2) is Vertical -f;
(3) tilts downward to the right (4) tilts upward to the right .
10. Identify the transfer payments in the following and answer from the codes below :
(a) Annual increment in salary . ’
(b) Payment of bonus to employees £ -
(c) Interest payment on public debt - \ (
(d) Pension payment /_/ ”
Codes : 4 )
M @ad@ @ O@Qad@ /) @ @ad®) @ (@and()
f J
11. Technical progress is said to be Hicks Capital intehsiv‘ if at constant capital labour ratio
MRTS,;  : f
(1) remains constant (2) decreases == y
(3) increases (4 none of (1), (?) and (3) are relevant
12. In the theory of investment dectqo& the most appropriate rate of return is the one which
makes the : f
(1) net present value the maximum (2) gross present value the maximum
(3) net present value zero (4) gross present value zero
13. Correct statement of;gob-web model is :
(1) Sy=ag+bgp; ; D= —cp—dgp; (2)  Sy=agtbop,_q; Dy=cy—dgp;
(3)  S¢=ag—bgpy—1; Dy=cptdgp; (4)  S¢=ag—bgpy_1; Dy=cp—dgP;—1
14. ‘Adverse selection’ arises because of :
/(1) Lack of infermation (2) Wrong information
(3) Asymmetrigal information (4) Uncertainty of future
15. Shadow prices can be called :
(1) _ Imputed cost (2)  Opportunity cost
(3) both (1) and (2) (4) neither (1) or (2)
16. Walra's general equilibrium model uses a :
(1) ¥ system of equations
(2)  system of simulteneous linear equations
(3 ) system of simulteneous equations
(4) system of linear equations
vous [|{HHITHIATRANII . Faper
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7. R ST § e § Aifgw far 7@ «ff wemee 8 9l § 59 98 Siel 9
(1) &% %0 R yfqai 9 (2) TCTLHIH
(3) EEgEsiel TsTeR ifd (4) fo=IR g5 TSI ifd
8. fa® I we qa fog | o 54 ¢
1) THEH>THAH (2) THH < T\ G
(B) THH = wHUH (4) THH = WU H =0
9. HH % IR UK § Thel Yfd T T THha1 § \
1) &fa 2) e (3) TEARF FEAGN  (4) o AF Tearge
10. % ford e # waiaRa o 1 fafed HIWE - A f
(a) o9 H =i gfg
(b) MR I AAE YA 1 .
(c) eI R U A a8 S
(d) HE g A ‘]
e / -
(1) (c) 2 (d) (2)  (b), () T (d) | 3) [(a) T (b) (4)  (a) T ()
11.  TeAren! YIfd o feer gSit 9em el ST, STef feer gsit .ﬂmmwiﬁﬁ%qﬁrma
(1) s e mesmf
(3) g < ;; (4) (1), (2) T (3) W I yHEfTH T T
12. ﬁéﬂﬁﬁ%ﬁmﬁmmﬁwaa@%‘?ﬁm%
(1) o adH™ ™ = SAfHshad (2) HHA AT T Hl HRAH
@) T ad9m qeg = g (4) HHd IdHH I Hl I
13. m—%mwaﬁﬁaﬁﬁmﬁf&aﬁaﬁﬂ%:
(1) St=a0+bqpt ; Dy=4—Icy—dgp, (2) Si=ayt+byp,_q1; Dy=cy—dyp;
3) St=a0_‘b£pt—l ; Dy=cy+dgpy 4) S t=a0—boP_1 Dt_CO dope—1q
14. ‘it w5’ S0 BT & STl;
F (1) oo e (2) TTod AT
(3) oTEAfHq 3U B (4) vfas =g @
15. 9fqgmn HTHdl Y el ST 9l ¢ :
(1)  omifa e (2) TR AT
3), (1) IR (2) I @) ()R () ¥ q FE FF T
16. 9 T':F = Hqe Hied | fordent ST fohan < € 2
(1) FeHH o (2)  FUd T HHHTO YOl
(3) U FHIRIOT JoTTe (4) YETI FHIH goe
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17.

18.

19.

20.

21.

(3) (b
yous [l

Which of the following is an inferior good ?
(1) Kerosine (2)
(3)  Electricity

Cooking gas
(4) Chemical fertilizers

Pareto optimality in production is gained in which of the following conditions ?

MRTS . = MRTS MRS = MRS
@) LK~ LK @) Xy ~ XY ]
5_
K L MP_ _ MPg Ve
(3) MRS,  =MRT,, @ p T Tpe

Match List - I (consumer behaviour approach) with List - II (Economist with whom it is
associated) and select the correct answer using the codes given*.below : f
List - I CList-II |

a) Cardinal Approach (i Von*Newman Morgenstein
)

(
(b) Indifference curve (1i) Alfretli' Marshell
() Revealed Preference Approach / (iii) ] K. Hicks
(d) Neo-utility theory of risky choices f (iv) h | Samuelson
Codes : ? F

@ (® © @ reé
a6 @ 6 L (
@ G 6@ 0 @ «f
@) @) G @Gv) @ b4
4) (@) @@ (@v) @ 7

Which one of the folipwing is the correct concept of Natural rating unemployment ?
(1)  Frictionally and stru¢turally unemployed
2

(2)  Frictionally and cyclically unemployed
(3) - Structurally and cyclically unemployed
(4)

S (4 Frictionallyzcylclically and structurally unemployed

Consider the following statements :
(a) _ Points to the left of the IS curve indicate excess supply of goods.

(b) Points to the right of the LM curve indicate excess demand for money.
(C).l' Points to the right of the IS curve indicate excess supply of money.
(d)"y Points to the right of the IS curve indicate excess supply of goods.

Of these statements :

(1) (b) and (d) are correct (2) (a) and (c) are correct
and (c) are correct 4)

)
U

(c) and (d) are correct

=)}

Paper-III

www.examrace.com



17.

18.

19.

20.

21.1

freafafad § @ S T fgs T § 2

(1) A 2) @R 1™ (@) fosret (4) TEEME 3o
frefafea & 9 fFad Scmer o Tal =t SuamdT 9 1 S § 2
X Y A B
(1) MRTS  =MRTS (2) MRS, =MRS
RS\ = MRT_- Mh M
() MRS,y =MRI. O /.

et - 1 (STl SRR ART) w1 gE - [ (e, R we e das 8) &
e &Y 3R 9 foU MU F2i 1 3T FA G TE W A |

K ol -
(a) HUHE 3ATTH o & =
(b) AN = /_,4 (i) e msiai
(c) ehfea erfemm fagrd / i) .‘lé" ¥, form
(d) Sifgags === &1 Ja-3uf fagia | v [ 3
e :

@@ (b) (9 (d) nj
1) @) (i) (@) (@) " f —
() @) @) @ ) ( 4 |
() @@ @) @v) @ W
(4) () (

i @) @ g

frefafea 8 & wrhfas ISR R HT S STTIROT T ?
(1) FHUTHE €9 9 3R GTEArTs &9 ¥ ISR

) aﬂ‘wmﬁéﬁ?aﬁamﬁaﬁw

(3) WIS ¥Y § AR Th1T T ¥ ISR

(4) - SIUTCH, &rhTa 3R FTEATHS B9 Y SRISTR

 trfian wor o R o -

(a) IS & o3 T o foig aeqsii &1 stcafuss emyfd =+ S < §
(b) LM 9% & &8 T & foig TaT i Tcfees AT 1 371 7d §
(c) IS % <k TE & foig GeT i Tcaferd Smgfd =i 3fa +d §
(d), IS o qE WE o fog aEG 1 STATYSH MY l IR F §

ERl EF'S’Fﬁ ==
1) (b) ¥ (d) W& 2) (a) @R () W E
(3) (b) IR (c) W& @) () ¥R (d) W §
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22.

23.

24.

25.

26.

(1)

()

(3)

(4)
27.

(1)
J-0115 H““"H”

a
The unbalanced irowrth strategy is based on :

External and Internal economies

" Spread anfl backwash effects

Increasing'and constant returns to scale

. Backward and forward linkages

r
Financial dualism theory was developed by :

B. Higgins (2)

H. Myint (3) W. A. Lewis

@

Match List - I with List - IT and select the correct answer from the codes given below :
List - I List - II

(a) C=40+0.7y (i) LM function
(b) I=90-61i (i) IS function
() 03y—20i—160=0 (iii) Consumption function
(d) 0.3y+20i—150=0 (iv) Investment function
Codes : :

@ ® © @ .
(1) @) @Gv) @) ) {
@ Gv) @) @ 6 ( [
@) ) O @ () '
@) (W) ) @ 0 _ .

§

In a linear programming problem, an optimum selution,will be :
(1)  One of the basic solutions (2) One of the feasible solutions
(3)  One of the basic feasible solutions r."l (4) One _gﬂf the non-basic solutions
Human capital formation can be accelerated by : ,/
(1) Promoting skill development programmes —
(2) Providing medical and health fadilities in both {ural and urban areas.
(3) Strengthening hardware ahdﬂ&)ftware industryl.
(4) (1) and (2) above. i
What is the correct sequence for the evolution of society according to Karl Marx ?
(a) Socialism { (b)" “Slavery () Feudalism (d) Capitalism
Codes : {
(1) (@), (b)) and (d) ) (), (), (b) and (@)
@ ) ©) { and @) 4) () (d), (b) and (a)

(4) R. Nurkse
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22.

23.

24.

25.

26.

27.

T - 1 G - 11 % 91 fram i ofR = fer T e § 9 s S
T - 1 Tt - 11

(@) C=40+0.7y (i) LM e

(b) I=90—6i (i) IS wed

() 0.3y—20i—160=0 (ili) STHNT FHeA

(d) 0.3y+20i—150=0 (iv) T wed

RE : y
@ b © @ P

1) @) (@v) @ @) f [

) (v) () @) ()

G) (v) @ @) (i)

(4) () (@v) @) @) 'E_

@t g g § U 39 SHIEE 8 /’( =

(1) oo qoE E @ T f2) en Feei 6 4 v

(3) T WieA THEE # 9 ©H [ (@) Tl{f«rwaﬁrﬁ@@

T goit i & IS g S TR §

(1) e fasm wrEdwg & JIcHTE St (

@) Waﬁtmﬁaﬁ@ﬁﬁfﬂ%ﬁﬁhﬁnwgﬁrmwm

(3) TEIR ﬁtwwaﬁﬁ ST T

(4) W (1) 3R (2)

WW%WWéﬂWWW‘TWW%?

(a) FHENER | (b) = <TET (c) WA CRSIE

RE : ‘4

/@) @) (b) (©FR(d) 2 (@), () (b) IR (a)

3) () () ( )@:‘ (a) 4) (0 (d), (b) ¥R (a)

sregfera Hafg WHifa smenfa ¢ -

a) = SR i faeme = 2) o= SR Tw=rmH g9E

(3)\, Fed T iR feort Jurd & gfcqwhet W (4)  TOSHTHT ST STATHT ST W

forta e fagia feras I Tt feman T

1) . fef (2) TE. A= (3) T TS (4) AN W
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28.

29.

30.

31.

32.

33.

()
" (3) Perfect Co‘_petgtion
(4)

Which among the following production function will exhibit both Hicks and Harrod technical
progress ?

(1) Leontieff production functions

(2) Cobb - Douglas production functions

(3) ACMS production functions

(4) None of the above

The concept of X-efficiency was formulated by : o

(1) H.Singer (2) H. Leibenstein (3) R. Rodan 4) C Kindle}a,erger

Which among the following items has the largest value of exports in India during 2013-15 ?
(1) Engineering goods

(2) Garments _ /
(3) Gems and Jewellary y |
(4) Agro-processing exports. o (

AN

Which among the following is not correctly 1}‘{atched ?

(1) Golden age : Mrs. ]oanrRobms _.*'
(2) Golden rule of S '

accumulation : Edmund Phelfs ,fj 2
(3) Steady state growth : Robert Solow S
(4) Low income 4

equillibrium trap L T,{R Malthus

| Y

Who among the following eeonomists is not associated with the Dependency Theory ?
(1) S. Amin (2) P. Baron
(3) Raul Prebisch - (4) A.G. Frank

f
Which one of the following is not a feature of neoclassical economics ?
(1) Flexible wages and interest rates

2) Capital in physical and financial form

4)  Neutrality of money

34. Renewed focus to control increasing population is required from the viewpoint of women
because :
(1), Family planning programme needs to be reoriented keeping in view the reproductive

o health rights of women.

(2) = Increased budget needed to provide quality services to women.
(3) Increased number of women councellers needed for health and youth friendly services.
(4) All of the above.

|| T 10 papeca
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28. Tr=fafad # 9 w9 Scdes o, g o 30 SH1 1 928 qohleh! YIfd Jefeid O ¢
1) fasif=® 3T werd (2) hId - STAH G Herd
(3) U . TH. TH. 39T Herd (4) SR H F A off T
29. T - & hI SR foRgd gR1 fasfad &t 7 -
(1) = R (2) TE. Al
(3) SR Ted (4) Hi. foedesi /
30. frefefad oef & & frwe 2013 - 15 % IRF wRd ¥ Frafa § femeres 7o @18 [
(1) Eafraftn awgsti @ faf (2) wRYM (TRACH) < fak
(3) ¥ SR Smum w1 A (4) P - THERA SR Bt Tk I
B {
31. fr=fafea & 9 feage faoam w2 T2 €2 J,/"J II
(1) =t ;o o it e
(2) w1 i fem T ﬁn—vta\ f
(3) HES TEEdl § Hfg : e gl 4'} p
(4) A A G ST : 1,!\2?.341?.14169411(”
-« '
32. frerfafea § @ = @1 sefomeh e fasia’ @ w7 &7
(1) TE. HA - ) . es=
(3) W fufers . (4) TSt
i
33. ﬁmﬁ@aﬁ@ﬁ,ﬁw—%ﬂﬁw refomres 1 fagioar wE € 2
(1) - T TSRy SR &N R (2) fifaes iR fofta &9 F gsit
/ (3) ol wfeEnf a‘f \ (4) TR AT TeEAA
34. Wﬁ%g@ﬁmﬁmw%ﬁaﬂwm%ﬁ?aﬁé:ﬁ sTafyen & <A1 & § i
(1) Afeensti & Her @ SfasR 1 2 § Tad ge IReaR iy wriwd & 78 fowm <
| g
(2)"y TS 1 TR T GEH O % o awie | i s ¥
( ) e iR - fed Fenedi % foru Afgen weserel w1 gen § 9ig e
ST qft
pous |H||H|||\H\||H||H||||\IH|\||\||“|“|H||\||\|||\|H||! .
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35. Match List - I with List - IT and select the correct answer :
List - I List - II
(a) Supply side of international trade (i) David Ricardo
(b) Demand side of international trade (i) Bastable and Alfred Marshall
(c) Opportunity cost of international trade (iii) G. Haberler
(d) Real cost theory of International trade (iv) Alfred Marshall and Edgeworth
Codes :
@ B (© (@ '
L @ (v) @) (i) {
(2) (@) (v) (D) (i) /
G @ O @ G g 9
@4 Gv) @) (@) () f f
36. Justice in taxation is best ensured by applying the principle of : v
(1) Equal marginal sacrifice (2) Equal proportional sacrifice
(3) Equal absolute sacrifice (4) None of the above. (
' *
37. All the funds which belong to Government gczl,fcf)( y I-
(1) Public Account (2) fConsolidated fund
(3) Contigency fund (4) | Revenue Account
38. During the period 2004 and 2013, India’s share in global exports increased from :
(I) 0.8 percent to 1.7 percent (2) 1.0 percent to 2'5 percent
(3) 1.0 percent to 1.5 percent N4 12 perdent to 2.1 percent
39. ‘Gender budgeting’ means : | N d._){
(1) a seperate budget for woénen (2) a tool for gender empowerment
(3) a tool for gender discrimination (4) a seperate budget for men and women.
40. Which sector in India has developed breaking the Colin Clark sequence of development ?
(1) Export Sector \ ( (2) Primary Sector
(3) Secondary Sector (4) Service Sector
41.  Match List - I With List - II by selecting correct codes given below :
i List -1 N List - II
(a) Liquidity tr}p \ (i) M. Friedman
(b) Demonstration effect (i) A.C. Pigou
() Permanent Income Hypothesis  (iii) J. Duesenberry
(d) ™ Wealth Efﬁect (iv) J. M. Keynes
Codes :
L@ () () (d
WY @ 0O G
@= @ (@) () ()
@) ) @ O ()
@ O G (v G
a1 2 Faper
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35.

36.

37.

38.

39.

40.

41.

et - I 6 gt - 11 8 gafad w iR 98 I &1 =17 H

Tt - 1 T - 11

(a) SAAUE SATIR T M 98 () Sfoe et
(b) AT SATIR T HT 94 (i) IRTA TH ThE ARTA
(c) AT IR i HTHR AN (iif) Sft. TR
(d) AT AR *I Al ard [Hgid  (iv)  Tohe AR T8 Toae
e :

@@ () (9 (d
1 @ (@Gv) @) (i) /
(2) (@) (v) (D) (i) f
G) @v) @) @) (i)
4) (v) (1) @) (i) ;
FuH | = frefafead 9 9 feg fagia o sruam g geifys gﬁrﬁﬁﬁ BT g
(1) |HA HrHid @& (2) EHME #Amids @ |
(3) WHM THU M (4) ST ¥ P A
W A A o e e g /0 |
(1) <k o (2) wHfea ffg [ (3) ffy @) TS= o
2004 3R 2013 *1 s1afy & SRA dfyas frafa § ara ﬁ‘wqmﬁl freferfd &9 & ol % :
(1) 0.8 yfawd ¥ 1.7 gfasma (2) 1.0 yfaerq.H,2.5 gfaea
(3) 1.0 RR@ ¥ 1.5 gfavE V@ 12 viefa @ 2.1 whww
‘Set st | ad ® 4 _‘-{
(1) Hfeansli & forg T g suie (2) Hfgen GuERER &% fau T ST

3) wfeeneii & gfd deue & fau T STRO (4) RS U Afeensii % fau guw a5
forehr & ifer FerohH 1 e IRA o fohg & 1 forshrd gem € 2
(1) frafa &= o) ( Tt & @) fedtaew &= (4) e as

el fow o 2 & | W& F F1 9T HQ g G - 1 B G - 11 D gAferd B
e -1 4 T - 11

/(@) A Sl g, () TH. WieHd
(b) W g [ (i) U L o
(c) Tl T URHT (ili) S SIS
(d) _ HHST g7 (iv) . TH HH
®e: |

L @ () (o) (d)
(D)5 (v) - Gi) () (i)
(2) =@ () (v) (i)
G) @Gv) @) @ (i)
4) @) @) (v) (i)
vous [ AN AT 1
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42.

43.

44.

45.

46.

47.

An over-valued currency will have which of the following effects :
(1) Make exports and imports equally costly

(2) Make exports and imports equally cheaper

(3) Make imports relatively more costly

(4) Make imports relatively cheaper.

According to Pribisch-Singer thesis which of the following is true ?

(a) International trade has increased international inequalities and has retarded the
development of developing countries. f

(b)  The strategy of import substitution has resulted in misallocation of resources within a
developing country. {d

Codes : { 4

(1) Both (a) and (b) are true. (2) Only (a) is true.

(3) Only (b) is true (4) Both (a) and (b) are not true. |

Assertion (A) Marshall-Lerner condition should be fulfilled if devaluation is to be
successful. 5

Reason (R) : Devaluation makes expgi?’ ts costly and imports cheaper.

Codes : f !

(1) Both (A) and (R) are correct

(2

) Both (A) and (R) are not correct ’ x
(3)  (A) is correct but (R) is not correct explainatio (A)
) (A) is correct and (R) is the correct reason of (A
Productivity changes in domestic exgoirt industry arerincorporated in which types of terms
of trade ? -
(1)  Income terms of trade | { < (2) Single factoral terms of trade
(3)  Gross barter terms of trade (4) None of the above.

The proposed GST bill will subsume :
(1) Entertainment tax ~ (2) Value-added tax
(3)  Union excise duty | (4) All of the above.

Select the pair g.f economists, who first gave the canons of taxation and public expenditure :

(1) R. N. Bhargav and R. A. Musgrave

) Adam Smith and Findlay Shirras
(3) A. C. Pigod and David Ricardo
)

(4) A.R. Prest and Ursula K Hicks
48. Following are same of the effects of parallel economy in India :

(a) Loss of revenue to the Government

(b), Greater burden on honest tax-payers

(c) ¥ Results in equitable distribution of wealth and income

(d) "~ Encouragement to non-essential items of conspicuous consumption.

Find the correct combination from the codes given below :

(1) (), (Band(© (2) (a) (Hand(d) (3) (b),()and(d) @) (a)and (d)
HIINIHIIIIH|||\“IHIHHHI\II\IHIIH I 1 Faper
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42. Afmferd qg1 w1 fAfafed § § SH-91 9919 26 ¢
(1) Frofd iR e[ T H F M @M (2) T SR S| 99 §9 9 951 86
(3) AT I Wrafersh T F HEW A (4) AT I WTAferR €Y T AT
43. Tafew - foR vy % @R fr=fafaa & 4 9 9& €2
(a) AT AR 7 FRE STHAFA ! TG § AR faahmasial <o o foawr #i staeg fhan g
(b) AT Yfawemas st Rl o gRomaaey fasmmesia <o d Ffeqol stee ‘g’aﬂ?:z‘ ._
?g::@)aﬁub)aﬂ‘m%‘r% 2) o (a) WA E £ s
(3) Faa (b) T F @) (@R @) T | [
44, AfMmER (A) : IS STIHTHA H HEA B 7 A RG-S I T S <R
T (R) : STaea Fafd 1 7EM SR ST Sl & &l ¢ |
7= b |
(1) (A) R (R) I W & ;”H |
2) (A) 3R (R) 3 W& T 2 [ \ |
(3) (A)TE § A (R), (A) 1 e =€ T ¥ \ f
(4) (A) TR T 3R (R), (A) FT WEl =T 7 »'/
45. = Frafa @ § sl qRedd AR o ﬁﬁﬁﬂ}ﬁ;@%ﬁ g2
(1) 3T =1 R I « I @ v R ud
@) e ot o A (4w G
46. vEafaa Si.wE.d. fadgs ® wnfae g
(1) FARSH FT (2) | W{T:rﬁi'cr F (3) HEM SR Yoh (4) SUF H G @l
47. el & 39 g &1 =9AT F AN Tecll IR R F wrewg = & R () @
gidare forar @ 4
/(1) IR T T AR T HHIE (2)  UeH fEy ud feed frist
(3) T . fo wE <foe fwret (4) T R I TH Yo &, o
48. frfafed 4 9 $9 IRG ¥ FAHWR ST o 9@ © |
(a) &R FI T[St BT He (b) SHMSR HIEMIS T 1y o
©)\ T SR T % FE T (d) ISR IUHN I SFAETHF TG I FIHTE
feu ¢ e & w& 78 &1 7 Y
(1) @, ©) R @ (@), (b) ¥ (d)
() (b) (0) SR () 4 () (@)
rouss [ R AAI A i Papecn
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49. Reference period for the Neonatal Mortality Rate in India is :
(1) Three months after birth (2) One month after birth
(3) 28 days after birth (4) None of the above.
50. Recently launched “Indradhanush” programme is related with :
(1) Production of medicines
(2) Vaccination against fatal diseases
(3)  Multivocational training for adolscent girls.
(4) None of the above. {
4
51. Who suggested to Government of India to introduce expenditure tax ? {
(1) N. Kalder (2) J. R. Hicks (3) B Hanson (4) { Ursula Hicks
52.  Which of the following new financing agency provide finance to micro and small business ?
(1) SIDBI 2) MUDRA (3) NABAKD .(4) K€cC
53. Who said, “Inflation is unjust and defletion is i xpedlent ? li
(1) A.K Sen (2) J. R. Hicks 36 A. C. Plgou (4) J. M. Keynes
54. Consider the following reasons of contmuoué decline in pverage land holding rise in India.
Answer from the code given below : /
(a) Law of Inheritance (b) Conso‘tfhon
(c) Farm Mechanization (d) Desire for land 6wnership
Codes : % f ™~
(1) () and (b) (@ @andfq)
® @O ©m@  NE @ @
55. Central Governments’ situatien %s likely to be stressed because of :
(1) Implementation of the recommandations of the Seventh Central Pay Commission
(2) Larger devolution to the states arrising out of recommandations of the Fourteenth
Finance Commission,
(3) Compensation to thelstates on implementation of GST
(4) All of the above.
56. Which tax is im}losed solely by the Government of India ?
" (1) Sales Tax f \ (2) Excise Tax (3) Custom duty  (4) Octroi duty
57. GST in India will be characterised by which of the following features ?
Choose the correct answer from the codes given below :
(a) There willlbe a dual GST with Centre and the state.
(b), It would be a destination based tax as against the origin based tax.
(c) W It would apply to all goods and services excluding alcohol for human consumption.
Codesg:
(1) All the above are correct. (2) Only (a) is true.
Both (a) and (b) are true. (4) Only (b) and (c) are true.
T y papeca
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49. 9RG H Taoq oy gog-< T Heof erafy w72

(1) <9 & 918 O 7EH (2) S % WQ T HEAl

(3) 3 % & 28 faq (4) o= H 9 w8 el
50. T ¥ RY fohen T smyw ! wrdwn frefafed ¥ 9 feud defia €

(1)  sfferl w1 Screa

(2) ek SHE ¥ g9 & forg SeRmeh

(3) TwenfEi & fau =g sAmetas griem

(4) STF H 9 FE TR/ /
51. frefafad & 9 fohe TG TR 1 = F h1 AR F7 F gedl fen? .

(1) TH &eeX 2) . R few (3) @t & (4)- IYer fem
52. frefofaa & @ w9 7 faxdion woidt gaa ©d o =mR % fo e gean w3 @

(1) faest 2) =g (3) TEE (@) ﬁmﬁ;mm (. 9. 9i.)
53. T e gETewid ST € SiR fawwifa T3 2

(1) T & 99 2) . R fem 1) qzﬁ.,‘fﬂ (4) . TH &
54. 9RA ¥ 7Ed Sid & AR # FRR fiiree & frefafaa s ||*IIT{ foraR &Y | 1= fqu el 7 4 SIS

(a) SOUTYHR HA (b) | HHEHA

(c) Tl o1 HfTHT (d) o= I BT

e A f g

(1) (@) ¥R (b) D @

G @O € @ @O
55. g YRR hI AR FRfa s T W@ st qeret f6 SRel 9 ¢

(1) Had =1 oqd STEE i el &1 e |

(2) ieed fom d<||¢||:k i TIETen & R0 Tl ] SATQT e |

(3) %] IR WAl FR (SFRE) F FHEFGIT % RO T H AfTgfd |

(4) ST Hfh
56. S T T Hee MRA TR GRI A STl E ?

) farrat ) (2 TR R (3) e (4) =

57. 9RA H 9% AR a1 R (Seeet) i F=fatad § & 1 fagmea § 2

e fR T el § Tt 3w H T wl

(a) ¥ IR T w1 <redl STuget secen g |

(b), IS YA L % foreg 78 Tided Senfid L arm |

(©) f%ﬂﬂawﬁﬂﬁ?m 3TehIed i BIgwT Tt FEqsti o) Farei | aF] 2 |

?iat‘a:qﬁaamﬁw%l (2) HIAA (a) FA T

(3) (a) 3R (b) TH T ¥ (4) FA (b) 3R () TA Tl
pous [l H||H||||\|“|\||\||“|“|H||\||\|||\|H||! 1 papec
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58.

59.

60.

61.

62.

63.

Consider the following :

(a) Interest rate on bonds

(b) Rate of inflation

(c) Ratio of savings to investment

The velocity of money according to Friedman depends upon which of the above factors ?
Choose the code to answer.

Codes : Ly
(1) (@) (b)and () (2) (b)and () (3)  (a) and (b) (4) Only (c)

rd
Which country introduced paper currency system first in World ? { r
(1) England (2) USA (3) India (4)- Sweden

L

r

The 2014 Nobel Prize in Economics was awarded to :

(1) Lars Peter Hansen (2) Jean Ttiole (
(3) Alvin E. Roth (4) I}é{ﬂ Krug"'rrllan
i i
In environmental economics Herman Daly }}'z'lis formulated :
(1) Step up approach (2) f Space lutilisation approach
(3)  Ecological approach (4) Steady 'state approach

Fd

-

High powered panel to select the nohdexecutive chai!:man of public sector banks has been
constituted by Government under the chairmanship of :

(1) C. Rangarajan Vi < (2) Raghuram Rajan
(3) Bimal Jalan - (4) Y. V.Reddy

Assertion : The share of women in decision making process is gradually increasing.

Reasoning : Gredter iflClllSiOI’l of women involves greater share of gender budget in
general budget.

Of the aboveistalltements, which one is correct :

(1) Both (A) ié1‘|'1r1d (R) are correct and (R) is correct explaination of (A)

(2) Both (A) a‘_ (R) are correct and (R) is not the correct explaination of (A)
(3) (A) is true but (R) is false

(4) (R) is true but (A) is false.

64. Iniiia’s ‘Green Actions’ can be made effective by :
(1)% , Increase in excise duty on petrol and diesel
(2) . Translating coal cess into a ‘carbon tax’.
(3) Srignificantely promoting the renewable sources of energy.
(4) All of the above.
|| T s Papec1
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58. Ti=fafEd W f9ur &Y :
(a) Wi =AW R
(b) HETERITd Wi ST
(c) wEa-Terer Taum
IS & STTER g1 o fohe Sugdad qei W Rk o6t € 2 Wl SR & faw el &1 = &L
fo @, (b) ¥ () () (b) () () (a) ¥ (b) @ %o ;
59. foa <w 7 fava # Gyem ATl g1 1 Tee TR R ? "(r'
(1) 3zwie 2) €. T (3) ¥Rd (4) S
60. 9 2014 T STIME 1 Feal YRR 8 ISM foharm 7am o ? > ,
(1) AR (2) SR (3) TEEE JA  (4) A FA
61. s e # g et 3 v e A0 |
(1) Twer ST (2) e i ST
(3) wiRkfeufdent sqr™ (4) | Haq - rEEen SunH
62. TIHR 7 WA &F & Sl o TR- Eh‘l'a%mﬁ aw&?ﬁ?wﬁiﬁmw reTeTa § SR 4
Tfad w1 8 |
1) . RsH (2) Wq&‘—v (3) foret st (4) @ & IS
63. 2MfuRAT (A) ﬁméﬁﬁmﬁnﬁw\%ﬁﬁ%?@wﬁ efiv-efit og W T
ST (R) ¢« HAfEesT % SATeT WA BH *1 qcad fAmeia seie Fi qH aeie | STl
{ W%I
ST e | 9 W“\:I"épf%
(1) (A)aﬁulya'rh@%aﬂi (R), (A) T &l =R T |
(2)  (A) ¥R (R),SHI T § R (R), (A) T T8l HATEAT 781 Ll ¢ |
[ G) (A 7= % A (R) o5 3
4 (R TAT INEERES
64. *H'R‘dﬁv‘ ‘I TR T YIRS ST Hehll © ¢
1), WA iR Eea W 3R YoF | ghg W
(2) ¥ FrEe U i He wH gRafdd w0
(3) Sl & TeTHIU il ! Fiedied H
(4) SgF 9|
rouss [ IMIRANN s Paper-11
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65.

66.

67.
68.
69.

70.

71.

vous [[{HHITHIAVRRNII

/(@) Durbin’s sty
b) Goldfeld-Quandt test

Which of the following are the conditions of economic viability and technological feasibilty
of Leontief’s static model ?

(1) Kuhn - Tucker conditions
(2) Hawkins - Simon conditions
(3) Klein - Rubin conditions
(4) Von Neumann - Mogenstern conditions

e , . f
Given the demand function as p = Zq , consumer’s surplus at q=25is :

4

1) 1.12 2) 1.25 @) 1 (4) 05 {1

f r
Given the demand function as p=20—2q, the average and marginal revenue at q=3 are
respectively : -
(1) 6and 12 (2) 7and 12 (3) 8 and 14 § "% 1 and 15

\
Which of the following is true in the context of lsga’ustlcaftests of hypotheses for two variable
linear regression model : .-' |
(1) t>F (2) t2<F /@) §=F_; (4) t=F

Which is the correct form of model to test the tf’c&ionari:ry of a time series through
Dicky-Fuller test ? /

-

1) Y =AY gt (2 Y=Y S e B) YEML e (B AY =AYty
« '

The term ‘best’ in the best linear unbiased estimators (BLUE) implies :

(1) Maximum variance of the estimators

(2)

(3)  Average variance of the estimators

(4) Unbiased variafice of the estimators

Minimum variance of the estimators

Match the following and answer from codes given below :
List I List - II

( (i) Heteroscedasticity

( (i) Overall significance of a regression

() F-Test (iii) Stationarity of a series

(d) _ Dicky - Fuller test (

Codes |

L @ (b (9 (d)

iv) Auto - correlation in auto-regressive models

Wy @ @) (@Gv) (i)
(2) =@ (@v) @ (i)
G) @v) @ @) ()
4 @) (@Gv) G @

N
o

Paper-III
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65. Trfafad & @ o foaif=w *1 wWifasw afea =t snfefe regriar IR Fenfsm area &1 od §2?
(1) F7T - gH ¥ (2) e - e wd
() i - wfed wd (4) M A - A I
66. a1 791 AT Fe\ § p = %q_%,q=25 TR YT F AT ¥
1) 112 2) 1.25 G) 1 @ 05 | : p
67. T HAH & p=20—2q % ST B W q=3 T A9 IR A TFH H1 TH AT BT f‘”
1) 6 3R 12 2) 7R 12 (3) 8 3R 14 _ 4) 11 #R15
68 T e S Rl S e e R T e e 6 e e
1) £>F 2) ©<F (;7’ 2= }'7 (4) t=F
69. %ﬁwﬁw%mm@w%ﬁﬁﬁaﬁrﬁ é?fwzﬁ'—rmm@aﬂﬁr%?
1) Y, =AYt Q) Y=Y+ xtﬂﬂkt 4)  AY,=NY,_+w,
70. Y@g froae et (St ua 7€) o ‘Heigy’ wE A T
(1) ATRA® 1 AfHTH ﬁm £ (2) oS N A
3) Waﬂaﬁwﬁwh @) e w1 Fre faeR
71. Wﬁ%ﬁﬁﬁ@mﬁ@@wwwﬁ
et - 1 ' ( Tl - 11
(a) =fe =1 Ta () forom foranferant
(b) i d—:é»rsd Titeror (i) UIETHA i TH Fiefwd
[0 ww- qﬁ&mf (iii)  Soft kT Feera
(d) fesht Tt gham (iv) *@a: SfaTHt Afed # @a: HgEay
R .I
@ (b)) (9 ()
Wi, @ @) () ()
(2) = @) Gv) (@) (i)
(3) (1v) (i) (i) (i)
@) (@v) @{) @)
pous |H||H|||\| AT .
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72. In a simultaneous equations system for an over-identified equation the appropriate method
of estimation is :
(1) Ordinary Least squares Method
(2) Indirect Least Squares Method

(3) Two-stage Least Squares Method

(4) Limited information maximum Likelyhood Method

73.  Which of the following statements are true concerning a recursive system ? :
(a) The parameters can be validly estimated using seperate application of OLgto each
equation /
(b) The independent variables may be correlated with the error terms in other eq@iations.
() An application of 25LS would lead to unbiased but unefficient parameter estimates.
(d) The independent variables may be correlated with error terms in the equations in‘'which
they appear as independent variables.

L

(1) (b) and (d) only (2) (a) and (c) only = .

(3)  (a), (b) and (c) only 4) (@), (b), (¢) and () ";
74. In a multiple regression the regression coeffici ts are’to be tested. Which test would be

used ? / i

|'r |

(1) F test (2)  x*(Chi-square)test |  [(3) d test (4) ttest

75. In CES production function {é
v -
Q=ARX["+ (1-a)X;?H » N¢ (

Where Q is output and X; and X5 are labour and capital, choose the correct alternative from
given codes. Y4

(a) Efficiency Parameter == i n
(b) Distribution Parameter i p
(c) Substitution Parameter (i) o
(d) Returns to scal¢ parameter iv) A
Codes : |
(@) (b) [(c) (d)
M () ) 4 Gv) i)
(2 (@) (D) @) (iv)
[ ) (v) (i) i) | (@)
4 @) () fiv) @)
| -o00o-
\
v
vous AN 2 Faper
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72. T ITUq iR e § frdt stfa-fruifa wdieto & oo =t 3fed fafu § -
(1) HERe =Aad 91 ggfd (2) SIS AT T I
(@) fg - =Roftg =9 o ggfa (4) HfHa o erfushan gevreran ggfa
73. fafda yomelt & oy # frefafed § @ &9 @ e w8 €2
(a) Wﬁwﬁmwaﬁﬁqw«gwuoh{dgqummlaﬁéwﬁammm
) gimﬁwﬁﬁg&w%m&wﬁa@m%l ¢
(c) 2SLS o TUAN ¥ 981 <iferd STpsrel YTl i ATeher I | - { s
(d) Tdd = H 3T gHR ||ﬁMHHéwdﬂW%WﬁW@ﬁ%‘aﬁqﬁﬁ?wawﬁm
foan < wahd €
(1) ¥ (b) SR (d) (2) F (a) SR ()
(3) e (a), (b) 3R (o) @ (@) (), (9 3 () r
74 A AT A e I e e '|muﬁwm@mm?
(1) F oo ( /2 (FE enf)qﬁw
(3) d e f tq'fraﬂ‘
75. H.E.TH. SR wod | ‘j
Q=AHX;"+ (1-a) X, H p;‘\
WmeaﬁTxlaﬁIxzwbﬂzw% = faw e o & wet fawed it = Y|
(a)  T&ICT 9= i) w
(b) fomwEa o o (i) p
(c) fdeeTTd grere { g (i) «
(d) TEH® Hi?liqom 1 e (iv) A
< : d
@ B @
g1 @ @) vy (i)
(2) (@) (i) 12:1) ¥ (iv)
(3) (v) (i) () (D)
(4) @) G ) 6
F ! -o00o-
\
y
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